Addition posée en ligne : Addition 9

posée en + 9O

9O + 9 = 18 colonne: 18

» (Calcule ces additions en ligne :

3+1=4 9+2=....... 7 +5 = ....... 9+7 =......uu 4+4=.......
4 +1=........ 7+2=...... 9+8=....... 6+2=....... 8+8=........
24+ 2= .iiees 0+7=........ 6+1=...... 3+5=.ieens 3+ 3 = .ieeens
4 +2=........ 3+2=.uucuua 6 +8=....... 3+8=........ 9+9=.......
7+1=........ 2+ 8 =...cu1.. 7 +6=....... 8+6=....... 7+7=.uunnnns
24+ 3 =.ueess 8+2=.vuens 5+5=..... 6+6=..... 7+ 8 =.ceurns
4+6=10 4 +2=........ 7 +5 = ....... 2+9=...uu... 6+4=.....
3+7=........ 5+ 3 =...uutee 8+7=........ 7+4~=..... 7+3=.......
54+5=.cuus 8+4=....... 6+6=..... 1+9=........ 8+9=.......
9+9=........ 7+3=....0. 7 +8 = ........ 8+7=........ 2+ 3= .iiienes
9+0=........ 6+6=..... 8+9 =....... 2+ 8 =..uuusee 5+ 5 =..uuue.
8+8=........ 9+7 =.uunuua 94+6=..... 9+5=....... 9+4=.......
3+3= 8 + ........ = 6 +........ = 4+ ........ =9 | 3+ iivvnens =9
4 + ........ =7 | ceeennns +7=9| .......n +7=9| ....uuee +3=7| et +7=8
........ + 3= 7+ cennnn. = 4+ ........ = 6+......Z9 |8 +........ = 10
2 4+ iiiennns =8 | sivernun +4=8|........ + 4 = 2 4+ ciiennns =8 |7 + .urnnes = 10
........ +4=7 |2+ .iirven. = 3+ .iitee. =6 |4 + .cttee.. = 10| wueeeee. +4 =5
5+ cinunnes = 4 + ........ = 5+ ciniunse =7 |7+ cevennne =9 | 2+ iivennns =6
2+7= 4 + ........ =103 + ........ =10|8 + ........ =15| 6 + ........ =9
C I T =8 | tieinnns +2=8 |.urenns +7=10]........ +7=15| .cvvuse +7=9
........ +4=9|6+ ..cce... = 8+ .c0vvee. =127+ cetiiee. =15 8 + ..tihe.. =9
l1+........ = 2+ ciiiins = 9+ iieeens =10|........ +8=15| ..vvure +4=9
........ +3=12|5+ .iseeee. = 10| vuveenn + 4 = 5+ .iiiee. =11 3+ .iieea. =9
6+ ........ =107 + ........ =109 + ........ =101 + ........ = 10|5 + ........ =11
8+9=17 2+ ciiiiae =10(6 + ........ =134 + ........ =12|7 + ........ =13
........ +7=16|3 + ........ = 12|....0... + 7 =15|........ + 7 = 16| ... + 8 =10
7 + ccnnee. =14|........ +4=11|8 + ........ =168 + ........ =176 + ........ =11
........ +8=13|14+....... =11 |.cc.te.. +4 =12(9 + ........ = 18(5 + ........ = 13
54+ .cciiine =12 |.ciiinnn +3=11|3 + ........ =12 |.iiinnnn +4=13|9 + ........ = 18
1l+........ = 6+ ........ = 12|5 + ........ =149 + ........ =10|8 + ........ = 17




